T =M .1

HOTEL 28% ZHHEBIIM

LAC & 4 90,000,920
B AiE PR PN 750,000,000
&t 840,000,920
JLEET

Lo A 812,380,000/ ’wﬂ*l ' fﬂ%‘é IR Y e 52 R $40,000.920F

Wb WAy ARG REETHE 2437140010 | @i TR0 3,249,520 o
a A 0H oM
2SR b.Br % O & #B 0 OH
c A - B AT RS KL OFy & ek3:%%5%  OF 0
- ) a LA DS LRI, o
3 LHERACITEE T Btk E T ol
4. B A 4 oM
&t 840,000,920

HOTEL 28% HEFPRIW (HAT)

IEE M2 B BA(M) 258 IEHH W= B BA(M) &% 1HE W= B BA(M) (S5
WEeRERIE (1 = 0{ 0 || >+7— 0 iroom: 50000 0 | FLE-EFH: 0 | & 0:0
HN&ET=E 11 =K 0! 0 | *mss 0 {room| 100000 O | LANSRE | 0 | SET 0:0
#£AMAHITE {0 ¢ X 110000000f 0 || fB2% 0 ‘room| 100000 0 | e./\&t 0
oe—LarsVge s 0 0 =X 0: 0 || RF—ALPDF 0 | 0! 0 | mavswL-mmsere 0 | BFT | 500000 0O
FENETE | 0 room: 4500000 0 | RSq449+ 0 = 0{ 0 || BLER 0 | fFT | 1,500000f 0
BERGEEE)TE 0 iroom| 150000 0 || b.s)hit 0 || VTER 0 (@Pr 500000 O
fHREPkIE 0 |{RooM 0! 0 | B=MIEAEZE | 0 iroom| 500000 0 || Zi&HER 0 {&Ar 500000 O
e 0 iRoOM 0/ 0 | £AEAAzEE 0 | =X | 1500000f O || EAEIR 0 = | 500000{ O
ZESASRERME 0 room: 350000 O | c./h\Et 0 || BIER 0 i =X | 500000: O
BHSSEBASRME | 0 | X | 10000000 0 || avea—s—sz5ai 0 | T | 30000000 O | f/hE 0
AUEREIS 0 X 0! 0 || =Fehstsrsr—si 0 0 2L | 8000000f O || #AEBFRTLA 0 | = 0i0
FMEHRMHBIE (0 E | 100000f 0 | EEEESZFA | 0 {room: 2500000f 0 || ®EEF(RJL (0 | T | 100000; O
fR{A T 0 {ROOM 0i 0 || BEnsE 0 iroom: 600000 O | g./h&t 0
EFEZRETIE (0 | 1000000 O | ¥RFL4EE 0 iroom: 150000f O || Nysv—RKRE 0 | T | 200000} O
HETE 0 i = 0{ 0 | BED/Sx:IL 0 ‘room: 180000 O || ,Nwo¥—kxE: O | =X | 200000: O
INEE 0 || =>E=BOX 0 :ROOM 90000; O || h/)hgt 0
RISEEE 0 | = 0} 0 || LovskyhsmmE 0 iroomi 30000i 0 || &RE 0 iroomi 60000: O
—REEE 0+ = 0i 0 || dht 0 || HER 0 {room: 100000: O
a./\&t 0| V77— 0 {RrROOM 60000 O | i.ZhGt 0
AEAETIE 0 iroomi 500000i 0 || 7—7Ib 0 A 30000 0 || &t 0
X rRooM | 500000f 0 | Rl y¥— 0 A 0/ 0 || XU—XAFt 0
HokO 0 ‘room; 50000i 0 | BED 0 & 85000: 0 || ¥U—RE4Est 0




